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1)  𝐹𝑜𝑟 ∆𝑋𝑌𝑍, 𝑤ℎ𝑖𝑐ℎ 𝑡𝑦𝑝𝑒 𝑜𝑓 𝑙𝑖𝑛𝑒 𝑖𝑠 𝑠ℎ𝑜𝑤𝑛?          1) _______ 

 A) median 

 B) angle bisector 

 C) perpendicular bisector 

 D) altitude 

 

 

2) What is the slope of the line with this equation?   𝑦 = 2𝑥 − 5      2) _______ 

 

 

 

 

 

3) Which angle has the smallest measure?         3) _______ 

   (…show your work…) 

 

 

 

 

 

 

 

 

 

4) Find the longest segment.          4)_______ 

 A) 𝑀𝑂̅̅ ̅̅ ̅ 

 B) 𝑁𝑂̅̅ ̅̅  

 C) 𝐾𝑁̅̅̅̅̅ 

 D) 𝐾𝑀̅̅ ̅̅ ̅ 

 E)  𝐾𝑂̅̅ ̅̅  

 

 

 

5) Write the assumption you would make to start an indirect proof.    5) _______________ 

 

 Given:   𝐶𝐷̅̅ ̅̅  𝑖𝑠 𝑛𝑜𝑡 𝑎 𝑚𝑒𝑑𝑖𝑎𝑛 𝑜𝑓 ∆𝐴𝐵𝐶 

  ∠1 ≅ ∠2 

 Prove:  𝐶𝐵̅̅ ̅̅  ≇  𝐶𝐴̅̅ ̅̅   
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6) Complete the following proof with indirect reasoning. 

 

 Given:  ∠1 ≇ ∠2     

  𝑇𝑁̅̅ ̅̅  ≅  𝑁𝐾̅̅̅̅̅ 

 

 Prove: 𝐴𝑁̅̅ ̅̅  𝑖𝑠 𝑛𝑜𝑡 𝑎𝑛 𝑎𝑙𝑡𝑖𝑡𝑢𝑑𝑒 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

7) Name the shortest side in ∆𝑀𝑈𝐺.          7) _______ 

 A) 𝑀𝑈̅̅ ̅̅ ̅ 

 B) 𝑈𝐺̅̅ ̅̅  

 C) 𝐺𝑀̅̅̅̅̅ 

 D) can’t tell 

 

 

8) Name the angle with the greatest measure in ∆𝐴𝐵𝐶 .        8) _______ 

 A) ∠A 

 B) ∠B 

 C) ∠C 

 D) can’t tell 

 

 

For questions 9 – 11, refer to the figure  

to determine which is a true statement  

for the given information.  

 

9) 𝐹𝐺̅̅ ̅̅  𝑖𝑠 𝑎𝑛 𝑎𝑙𝑡𝑖𝑡𝑢𝑑𝑒.           9) _______ 

 A) DF = EF 

 B) DG = GE 

 C) ∠DFG≅ ∠EFG 

 D) ∠DGF is a right angle 



10) 𝐹𝐺̅̅ ̅̅  𝑖𝑠 𝑎 𝑚𝑒𝑑𝑖𝑎𝑛.           10) _______ 

 A) DF = EF 

 B) DG = GE 

 C) ∠DFG≅ ∠EFG 

 D) ∠DGF is a right angle 

 

11) 𝐹𝐺̅̅ ̅̅  𝑖𝑠 𝑎𝑛 𝑎𝑛𝑔𝑙𝑒 𝑏𝑖𝑠𝑒𝑐𝑡𝑜𝑟.          11) _______ 

 A) DF = EF 

 B) DG = GE 

 C) ∠DFG≅ ∠EFG 

 D) ∠DGF is a right angle 

 

 

12) Two sides of one triangle are congruent to two sides of another triangle. The third side of the 12) _______ 

      first triangle is longer than the third side of the second triangle. What theorem allows you to  

     make a conclusion about the included angles of the first two sides? 

 A) Exterior Angle Inequality Theorem 

 B) Triangle Inequality Theorem 

 C) SSS Inequality Theorem 

 D) SAS Inequality Theorem 

 

 

13) Complete the following proof with indirect reasoning. 

  

 Given:  l ∦ k     

   

 Prove: ∠1 ≇ ∠2 

 

 

 

 

  

 

 

 

 

 

 

14) Explain why this set of numbers can or can’t be the lengths of the sides of a triangle:  11, 12, 23  

 

 

 

  

 l 

 k  1 

 2 



(7x +8)

(8x + 10)

(10x - 13)
Chris

Lucas

Mike

TR

A

D

L

P

E

H

15

2

12

17

1

12

15)         Which friends are closest together?    

 

 

 

Which friends are furthest apart? 

 

 

 

 

 

 

 

 

 

 

 

 

 

16) What is the relationship between the lengths of AD and AR ?        _______ 

 

 A) AD > AR 

 B) AD < AR 

 C) AD = AR 

 D) can’t tell 

 

 

 

17) Which of these is at the end of an indirect proof?        _______ 

 

 A) State that a contradiction means your assumption was true, thus what you’re trying to prove is true. 

 B) State that a contradiction means your conclusion was false, thus what you’re trying to prove is true. 

 C) State that a contradiction means your assumption was false, thus what you’re trying to prove is true. 

 

 

 

18) Use   <, >,  or  =   to compare the measures of ∠1 and ∠2.       _______ 

 

 

 

 

 

 

 


